
11

ND8д8GеEк8E л8F 
(6клNG4O 
D8л84лK)

деOтелL=оEтL 7D46д4= 
(D878GеEк8E л8F) 1)

ND8д8GеEк8E 
л8F (6клNG4O 

D8л84лK)

деOтелL=оEтL 7D46д4= 
(D878GеEк8E л8F) 1)

�Eе7о 185 421 183 403

EелLEкое, леE=ое Eо7O9Eт6о, оEот4, 
DK5оло6Eт6о 8 DK5о6одEт6о 29 50 29 51

до5KG4 поле7=KE 8Eкоп4е<KE 1

о5D454тK64NI8е пDо876одEт64 16 42 18 43

6одоE=456е=8е; 6одоот6еде=8е, 
оD74=874F8O E5оD4 8 ут8л874F88 
отEодо6, деOтелL=оEтL по 
л8к68д4F88 747DO7=е=89 8 1 7

EтDо8телLEт6о 6 25 6 23
тоD7о6лO опто64O 8 Dо7=8G=4O; 
Dе<о=т 46тотD4=EпоDт=KE EDедEт6 8 
<отоF8кло6 11 164 13 159

тD4=EпоDт8Dо6к4 8 ED4=е=8е 6 74 4 72

деOтелL=оEтL 7оEт8=8F 8 
пDедпD8Oт89 о5IеEт6е==о7о 
п8т4=8O 1 17 1 10

деOтелL=оEтL 6 о5л4Eт8 8=DоD<4F88 
8 E6O78 3 6 3 6

деOтелL=оEтL D8=4=Eо64O 8 
EтD4Eо64O 1 2 1 2

деOтелL=оEтL по опеD4F8O< E 
=ед6868<K< 8<уIеEт6о< 5 1 5 1

деOтелL=оEтL пDоDеEE8о=4лL=4O, 
=4уG=4O 8 теE=8GеEк4O 8 12 9 9

деOтелL=оEтL 4д<8=8EтD4т86=4O 8 
EопутEт6уNI8е допол=8телL=Kе 
уEлу78 6 5 5 6

7оEуд4DEт6е==Kе упD46ле=8е 8 
о5еEпеGе=8е 6ое==о9 5е7оп4E=оEт8; 
EоF84лL=ое о5еEпеGе=8е 24 23

о5D47о64=8е 26 26

деOтелL=оEтL 6 о5л4Eт8 
7дD46ооED4=е=8O 8 EоF84лL=KE 
уEлу7 6 2 6 2

деOтелL=оEтL 6 о5л4Eт8 кулLтуDK, 
EпоDт4, оD74=874F88 доEу74 8 
D476леGе=89 3 1 3 2

пDедоEт46ле=8е пDоG8E 68до6 уEлу7 25 19 24 17
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1) �клNG4O 7л46 кDеEтLO=Eк8E (DеD<еDEк8E) Eо7O9Eт6; 8=д868ду4лL=KE пDедпD8=8<4теле9.


